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INSTRUCTION:- 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Exam No:

L 4
TOTAL M

3) Make suitable assumptions wherever necessary.

SECTION-I

[12]

Write down steps of Migration strategy for auto : Ide&fy them.

Explain “Human workers will be needed in f:
automated operation.”

Write down construction and worki

Explain different types?f@

: /
Write down USA fprin of
Give the difference en s
. 4 '
A roll follows a pathway 35 m long

a owl feeder.
i .
[12] |

mation and process improvement.

%
le station and multi station assembly system.

er ve
de]:)ar‘unenVNO sembly department. Velocity of the conveyor is 40 m/min.
Parts are loade large tote pans, which are placed onto the conveyor at the load ;
iemyin the wduction department. Two operators work the loading station. The
loads parts into tote pans, which takes 25 sec. Each tote pan holds 20
ter the loading station from production at a rate that is in balance with
cycle. The second worker loads tote pans onto the conveyor, which
only 10 sec. Determine: (a) spacing between tote pans along the conveyor, (b)

ations, even in the most highly

[y

between a parts production

maximum possible flow rate in parts/min, and (¢) the minimum time required to

load the tote pan in the assembly departnfent.

w hat is the different between a hoist and a crane? With sketch.

OR
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Que-3

Que-4

(a)

(b)

(a)
(b)

(d)

(11]

Given the AGVS layout shown in Fig. Vehicles travel counterclockwise aroun

loop to deliver loads from the load station to the unload station. Loadinggtime4@t the
load station = 0.75 min, and unloading time‘at the unload station = 0.50 mig]t 1
desired to determine how many vehicles are required to satisfy demand fm\
layout if a total of 40 del/hr must be completed by the AGVS. The following

performance parameters are given: vehicle velocity = 50 m/min, av lity = 395,

What is a conveyor? Give thelhatn erent types of conveyor and explain.

\ [12]
orkhielding.

icements for machining fixtures versus

Attempt Any Three.

Explain the 3-2-1 p

Compare the principal re

Explain me ;
Discuss the need exible fixtures in small-batch and/or one-of-akind

manu ring evironments.

SECTION-1I

[12]

lain working principle of Inductive and Capacitive proximity sensor with neat

ketch.
Y

at are the reason behind the increasing trend of Hydraulics and pneumatics in
dustries and mobile equipments? What are the differences in application of
hydraulics and pneumatics?
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Que-5

Que-5

Que-6

(a)

(b)

(a)
(b)

(a)

(b)

(a)
(b)

(d)

IS 21

What is the difference between Hard Automation and Soft automatio X
with Example. What are the advantage~s of Soft automation over ire
automation? ¢

What is the application of rotary encoders in close loop systems? How will you
select the type of encoder for particular application?

114
How many type of miscellaneous sensor? Describe it.
Enlist basic components of Hydraulic system. plain@ll components.
0
[11]

Briefly Explain Pressure relief valvé, Drawithe symbols for Pressure relief valves
used in Hydraulics.

Draw block diagram of P function of various blocks.

L 4
Attempt Any T

N
What are the strat ra ation?
Where PID cofitro ed? How three constants affect the control performance?
Deﬁne%ﬁt&d explain different regisgers used in 8085 microprocessor.

[12]

Explain the r Mechatronics in manufacturing.

L 4

********END OF PAPER********
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